Genkt en Denkt *** ClubTornooi *** 4 giften per ronde *** 16/03/2018 NZ OW|gift 1 NZ OW gift 2 N2 OW gift 3 N2 OW gift 4 N2 OV
1 HERVANS Rudi - BEELEN Bea 2 DE BRU JN Ri a- WOUTERS Moni que 1 2 3 11 -90 OILN= 5 9 130 N3R+1 0 14 -150 N2S-3 5 9 -90 OLN=
3 SAENEN Rene- SCHOUPS Roger 4 COCHET Franci ne- PECI NOVSKY Robert 15 16 0 14 -150 OLN+2 2 12 110 Z3R= 11 3 -50 z225-1| 14 0 200 OIN-2
5 WLLEMS Hubert-DI LI EN Fons 6 VANDECAN Nancy- HENDRI KX Rosette 10 11 14 0 100 WBS-2 5 9 130 Z3R+1 12 -120 WLN+1 5 9 -90 OLN=
7 JANSSENS Her mi ne- LEMAI RE Jack 8 THEUNI SSEN Jos- STEYFKENS Roger 4 7 9 5 50 O4S- 1 12 2 600 N3N= 7 -90 OIN= 9 -90 OLN=
9 CRAEGHS M et - LENAERTS Narda 10 ALDERS Lea- LEWMENS H 1y 3 12| 9 50 OLN1 | 0 14 90 NINE 14 0 100 OIN-1| 11 3 100 OIN-1
11 DIRKX Anny- KUYKENS M el 12 QUETIN Raynond- GHEKI ERE Jo 13 6 | 3 11 -90 OLNE 8 6 140 N3S= 7 7 -90 OLN= 0 14 -120 OLN+1
13 MEUW S Loui s- HEI NRYCH Mat hi | de 14 DANI ELS Rem - REMANS Li eve
15 BEULS Al bert - JANSSEN Jos 16 MEYERS Robert-SM TS Pet er ° 141 9 S0 G114 0 630 Nsh+lj 11 3 -50 N2S-1) 11 3 100 OIN-1
17 WLLEMS Li sette- SCHALENBOURG Josiane |18 Bye 17 8 | 9 5 500IN1 |10 4 150 GBK-3 | 4 10 -100 N2S-2 | 5 9 -90 OLN=
Bye
NZ OW|gift 5 NZ OW gift 6 N\Z OW gift 7 Nz OW gift 8 N\Z OW NZ OW|gift 9 Nz OW gift 10 NZ OW gift 11 NZ OW gift 12 Nz OW
3 4 0 14 -100 N3N 1 14 0 100 4R 1| 9 5 630 N3N+1 5 9 140 N3H= 5 6 6 8 140 N2H+1 12 -300 N3K-3 11 3 -150 O4K+1 630 N3N+1
Bye 14 17 0 14 80 N1S= 14 -500 N2N-5 5 9 -400 ObK= 8 6 630 N3N+1
12 15 9 5 150 NIN+2 0 14 -870 BR +1| 14 0 680 NdH+2| 5 9 140 N3H= Bye
16 13 4 10 120 NIN+1 11 3 -50 Z1H 1| 1 13 600 Z3N= 13 1 200 N3H+2 8 15 11 3 150 NIN+2| 14 0 200 2N-2| 5 9 -400 ObK= 12 2 650 NAS+1
6 9 2 12 110 zZis+1 11 3 -50 Z3H 1] 5 9 620 zZ4H= 9 5 170 N2H+2 16 11 4 10 120 Z2N= 8 6 -120 O2N= 0 14 -920 OG6K= 0 14 150 BH 3
5 14 13 1 600 N3N= 8 6 -100 zZ3H'-1| 1 13 600 Z3N= 0 14 50 OLK-1 7 2 11 3 150 N2N+1| 4 10 -200 N2K-2 5 9 -400 ObK= 11 620 N4S=
8 9 5 150 N2N+1 4 10 -150 O2N+1 5 620 NAH= 5 170 N3H+1 3 10 11 3 150 N2N+1 12 2 100 2R-1| 5 9 -400 OBK= 6 630 N3N+1
11 2 13 1 600 N3N= 2 12 -200 N3N-4 9 630 N3N+1 13 1 200 BK-4 13 4 2 12 100 O1K-1 | 10 4 -90 OLN= 11 3 -150 BK+2| 14 0 660 N3N+2
7 10 6 8 130 N3R+1 6 8 -130 AAR= 12 2 650 dH+1, 2 12 100 2K-2 9 12 11 3 150 NIN+2| 6 8 -150 O2N+1 14 0 50 O/K-1| 3 11 620 MS=
NZ OW|gift 13 NZ OW gift 14 NZ OW gift 15 NZ OW gift 16 NZ OW NZ OW|gift 17 NZ OW gift 18 NZ OW gift 19 NZ OW gift 20 Nz OW
8 14 -800 N2H! -3 1 13 -460 QOBN+2 6 8 -100 N2H 1 8 -600 BN= 9 10 7 7 -450 WIS+1 8 6 110 Z2S= 12 -620 WMH= 2 12 -170 O2S+2
3 5 -140 BH= 14 0 -140 WH+1| 0 14 -400 BN= 12 -630 O3N+1 4 7 7 -450 O4S+1 14 0 150 NIN+2 12 -620 AH= 9 5 -100 N2H 1
10 17 5 -140 BH= 11 3 -400 VWBN= 5 50 WBS-1 8 -600 BN= 12 7 7 -450 (4S+1 11 3 120 N2N= 13 1 100 M4H1, 9 5 -100 N2H 1
Bye 17 0 14 -480 WAS+2 2 12 50 &2H 1 7 7 -170 WBH+1 5 9 -140 2S+1
15 4 9 5 -140 2H+1 7 7 -420 WiH= 9 5 50 BN-1 10 4 -210 WN+3 Bye
9 16 3 11 -200 WBS+2 11 3 -400 BN= 4 10 -120 2N= 12 2 -150 WN+1 15 14 7 7 -450 WAS+1 11 3 120 ZIN+1| 13 1 100 WH-1| 14 0 200 WBN-2
5 12 9 5 -140 2H+1 10 -430 GBN+1 13 1 110 Z2H= 6 8 -600 VBN= 7 16 7 7 -450 (4S+1 4 10 80 N1S= 2 12 -620 AH= 12 2 110 N2H=
6 3 11 -200 Q3Ss+2 7 -420 AH= 13 1 110 N2H= 0 14 -660 OBN+2 3 14 0 -200 @3s+2| 6 8 100 OLR'-1]| 10 4 -140 BH= 5 9 -140 2S+1
11 14 14 0 300 BH 3 13 -460 QOBN+2 2 12 -140 BSs= 14 0 100 BN-1 13 7 7 -450 (4S+1 0 14 -90 OLN= 7 7 -170 GBH+1 0 14 -180 O2N+2
NZ OW|gift 21 NZ OW gift 22 Nz OW gift 23 NZ OW gift 24 NZ OW NZ OW|gift 25 NZ OW gift 26 NZ OW gift 27 Nz OW gift 28 NZ OW
11 12 9 5 630 N3N+1 10 4 150 NIN+2 3 11 -140 O2H+1 10 4 150 BH 3 13 14 3 11 -100 N2H'-1| 0 14 -120 OLN+1 5 9 -120 2N= |ni et gespeeld
6 7 9 5 630 N3N+1 14 0 400 Z3N= 9 5 -110 WH= 4 10 100 @BH 2 9 12 2 80 Z1H= 9 5 100 OIN1 11 3 100 aBN-214.7 9.3 90 ZIN=
14 3 9 5 630 N3N+1 10 4 150 NIN+2 12 2 110 N2S= | 10 4 150 BH 3 5 7 7 -50 Z1H 1 9 5 100 WIN1 5 9 -120 2N= |10.4 3.6 120 Z2N=
13 8 2 12 600 N3N= 4 10 120 N2N= 3 11 -140 2H+1 2 12 50 &2H 1 10 3 11 -100 N2H2 3 11 -100 N2H 1 14 0 120 N2N= |1.3 12. -100 N2N-1
17 2 0 14 -200 Z3N-2 4 10 120 ZIN+1 5 -110 WH= 6 8 110 N2S= 11 4 7 -50 N1IH 1 9 5 100 OIN-1 8 6 50 GBN-1 (10.4 3.6 120 N2N=
Bye 17 12 14 -250 Z4H 5 9 5 100 WAN-1 1 13 -400 GBN= [10.4 3.6 120 ZIN+1
15 10 9 5 630 N3N+1 4 10 120 Z2N= 3 11 -140 WH+1 0 14 -50 N3S-1 Bye
5 16 9 5 630 N3N+1 0 14 100 WH1 3 11 -140 WeH+1 | 10 4 150 2H 3 15 6 12 2 80 Z1H= 3 11 -100 zZ2H 1 11 3 100 OLN-2|1.3 12. -100 Z2N1
1 4 9 5 630 N3N+1 10 4 150 NIN+2 14 0 140 N3S= 14 0 500 GBH' -3 |3 16 12 2 80 N1H= 14 0 110 N2H= 1 13 -400 GBN= [10.4 3.6 120 NIN+1




